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Q1: Circle the rlght answer for all of the followmg:

Wy ade L
1: A vessel of 50 mL capacnty contains a certam amount of gas at 40 °Cand 2 bar pressure. The gas is transferred

Answer: a)1.0 atm b)0.85 mmHg
=) S\ 2w

2: What is the right formula of the Van der Waals equatlon?
Answer: a)p = [nRT/(V-nb)] —n(a?/V?) b) P = [nRT/(V-nb)] =V(n?*/a?) c)p = [nRT/(b-nV)] - —-a(n?/V?) @ [nRy(v-/nb)] a(nzl‘l
(

3: Calculate the ;lemperature of 4.0 mol of a gas occupylng 5.0 dm3>ai @Q
Answer: a) 50.3 °C b) 48 K y c) 51 °C

Answer: a) 50 kg ) 50 K

5: Calculate the pc of He gas, if the p.2 dlp is 0.44 and 1 atm respectiyely
Answer:  a)2.26 K(b) 2.264tm) ¢)2.26L d)2.26mol

6: If the repulsion forces are negligible, that means the gas-i

Answer: al/eaL(b-_)j\ﬁc) perfect d) compresseck\(// s

Answer: a)0.10mol b)1.0mol c)0.10

-
)

Answer: a)1.5Pa b) 0.49 bar

9: If the value of is 0.08

then the unit of temperature is?

b) Celsius c) Fahrenheit d) no one of th ee
//5

10: According to the Avogadro’s law the amount of a gas at STP is? ) k?’\ o U 4,509 UJ;

Answer: a)1.00 mol b) 2.00 mol d) 200 mol/ p~ N\ Er L' sy 20 S

Q2: The air inside a flexible 3.5 L container has a pressure of 115 kPa.
be increased to in order to decrease the pressure to 625 torr?

ould the volume of the container

Q3: A 3 dm? container holds 0.5t moles of N gas at 42 OC. What is the pressure inside the container?
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